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SECTIONA

BIWzm0d;

Q2

Q3

a4

Detqmine cft€th€r €ach ofthce staheirts is Trrc s Fdse.

el yqt can use C# to build npw web s€rrrices m Windows that can be invoked ftom your web

applicdim thst is bssed on Javaserver Poges (JSP) md runs m Linur.
(l nnt)

A we,b seryioe tsk€s &e help of Web Seryice Deecdptio l^anguagS (WSDL) to tag and format

the data (l na*)

Txg e)ft€nsible lvfalt*p Logrrags CrOlII-) Messaging hyer is respmmf for transpating

messagps between applications. (l na*)

The Serrrice Registry is a ceirtral place ufrere &velopers can publish new services or find

existing ones. 
(1 ma*)

Qs

a6

tr)ilS2 is an example of REST- bssod Java Web Selvice implemeiilation
(1 mark)

The following code ftagn€nt is correct for Java Web Service.

B1ebMlthod (operat,ionName : "m1il{ethodn )

public String myMethod (String txt) t
return tHello tr + txt + n lti

) (l matk)

Q7 lrdan in th€ middle is a tfpe ofattack qfrsr€ tte attacker secretly rchys and possibly alttrs the

communicationbefweeirtwoparties. (l na*)
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CONFIIIENTIAL Bnv2o4o4

aS IP packet fiftedng fircwalls employ afilteringprcoess by exmining lPpockcts batch-
(1ma*)

a9 Java Dabbose Cmnectivity (JDBC) is an application interface (APD fc lavr- 
pnogaming laoguage which d3fu€s how aclient moy aooess a databese.

(1na*)

e10 )C\dL Encr56im involves eircrypting the )Ov{L cmonical form using public-key encOntiolt
(l mark)
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SECTIONB

BIW 2040/,

Choose the best answer for each of the following questions.

Qf f Which of the following is correc y describing the Web service?
(A) It is available over the Internet or private networks.
(B) It us€s a standardized )OtdL messaging system.
(C) It is not tied to any operating system or programming language.

(D) All ofthe above.
(l mark)

Ql2 Which of the following role of web service architectrne utilizes an existing web service by
opening a network connection aod sending an)CvlL request?

(A) Senicehovider
(B) Service Requestor
(C) Service Registy
@) None ofthe above

(1 mark)

e13 Which ofthe following is correctly describing loosely coupled arghitecture of web service?

(A) A consumer of a web service is not tied to that web service dirwtly.

1gi The web service interface can change over time without compromising the client's

ability to int€ract with the service.
(C) Adopting a loosely coupled architectrne tends to make softivare systerns more

manageable and allows simpler integration between different systems.

(D) All ofthe above. 
(l mark)

Q14 For the )OvIL document "src.xml", select which of the following correctly describes the

namespace to which the type at[ibute of the name element belongs.

lsrc.xrnll

<?:<nrl version="1. 0'?>
<product xmlns=t'urn : trial : exam0'r)

<Information)
<nane tlPe=f'Oilw

xmlns : depth=' urn : trial : exam1 " )Bal l3o int3en< /name>
<coIor>B1ack</coIor>
<price>2_doIIars< /Price>

<,/lnformation>
<,/product>

(A) Both urn:trial:examO ofld urn: trial:exam1
@) urn:trial:examL
(C) urn:trial:exam0
(D) No namespace to which the type athibute belongs

(1 mark)
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Qts SOAP is . .
(A) an )(Irdl,-based computers for exchanging information between protocols

@) a communication protocol
(C) a special apptcation for service registry
(D) All ofthe above

(l mark)

e16 Select which of the following incorrectly describes the stnrcture d efined by the following

)GvlL Schema.

(xs : scherna rqnlns : xs= I' http : / /www . w3 . o x g / 2 O Ot / Xpllscherna')
(xs:element name=nProductltemn type=trProductTlpe' />
<xs : complexT!4)e name=oProducttlpe">

<xs ; seguence minoccur s=' O 
n maxoccurs= ttunboundedt )

<xs:elernent ref-"ProductCode" />
<xs:element ref=tProductNamett /)
<xs : element ref=rProductQuantiEy" />
<xs: choice>

<xs : element narne=" ProductPrice0l "
<xs : element nalne=" Product'Price 02"

< / xs: choice>
< / xs: sequence>
<XS : at,tf ibute nalne:f'LotCodef' t14>e:"Xs : stringt' use=tt required" />

</xs: comPlexTlpe>
<xs:eLement name="ProductCodeo tlpe-r'xs:string" />
(xs : element name=ttProductNannerr tlpe="xs : string" /)
(xs : element name=trProductQuantityn tlpe=txs :unsignedlnttt />

</xs: schema)

type'=txs: stringtt />
type='xs : unsignedlnt" />

(A)
(B)
(c)
(D)

The nproducrrremn element must include a nlotcode' attibute.

The nproducrcode" elernent has no limitations as to the number of appearances-

The order of appearanCe of the ilProductlten" child elernent is random'

Either the nproducrprice0l' element or the nProductPriceo2' element Can be COded'
(l mark)

Q17 What UDDI stands for?
(A) uniform Description, Discovery, and Integration
(B) Universal DescriptiorU Discoveryo ffid Integration

(C) Universal Discovery, DescriptiorU and Integration

Ctll Uniform Discov€{Y, Delivery, and Integration

elS Which of the following is a security issue with web services?

(A) ConfidentialitY
(B) Authentication
(C) Network SecuritY
(D) All of the above

(1 mark)

(1 mark)
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el9 Which of the following is trle abors behavioral chsrrcleristics of web services?.(A)WebSerr'icesrrsesxt.,g,atdatare'p'rceentati<nanddantusportatimlayers.

(Bi A consumer of a web service is not tied to tbat web sen'ice directly.

iCi g*io.rses and the interfaces that &ey qgose fuuld be coarse-grainod- Web services

teclmolory provides a nafiral way of dennng corse-gfained services that access the

right amount of business logic-
(D) All oftlre above.

(1 ma*)

Q20 Whhh ofthe following is correct about BEEP @ocol?- (A) This is a promising alternative to IITTP.

ifi ggep is i new Intirnet Engineering Ta* Fuce (ETF) framework forbuilding rew

protocols.
(C) Both of the above.
(D) None of the above.

(1 mark)
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SECTION C

Q21 (a) outline Two (2) general problems that can be solved by web

Business-to-Business (B2B) environment.

(b)

(c)

Q22 (a)

(b)

services especially in

(5 marks)

(c)

Describe XML usage in Web Service.
(2.5 marks)

Prepare a complete XML Schema for the XML instance in Figure Q21(c).

Figure Q21(c)
(7 marks)

(i) Illustrate Web Services architecture layers using a diagram.

iiil Describe any TWo (2) of the layers based on your answer in Q22(a)(i)'
(8 marks)

Compare between the basic standard web and web service architecture' Support your

answer with illustrations. 
(5 marks)

soAp web service and RESTfuI Web Service are two approaches for application

integrations. Give FOUR (4) comparisons between SOAP Web Service and RESTfuI

Web Service.
(10 marks)

'SOAP is proven to solve the interoperability' traversal and the

complexity issues in web applications 
"'Dijnguishbetween the independent and neutrality characteristics of SOAP which

leads to the Previous statement.
(5 marks)

Illustrate the security topologies which involve the clients and the back-end

applications using a diagram.
(5 marks)

t.'

i,t,
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Q23 (a)

" xmlns : bar:"http: / /www 'bar ' org">
<actors)

(actor id:"1")Christian Bale</actor>
(actor i6l:w2rtt1 ' am Neeson</acLor>
(actor id:"3")Michael- Caine<,/actor>

</actors>
<foo: singers>

(foo: singer id:"4">Tom Waits</foo: singer)
(foo: singer id:'5'>B.B. King</foo: singer>
(foo: singer id:"6")Ray Charles</ foo: singer)

</ foo: si-ngers>
< / root>

(b)
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(c) Give THREE (3) comparisons of network level
mechanism.

and application level security

(7.5 marks)

Q24 Your company is planning to develop a simple web service which aims to be used as part of
a pa;noll systsn. The service will be able to calculate the standard over-time pay in
manufacturing sector. It will calculate the wage based on the overtime working hows per

day. The paym€ntrate is as inTable Q24.

Table 4

Perid of over-time working hours per day Rate
l-2 hours USD 15.50 per horn
> 2 hours USD 12.00 per horn

Based on the given scenario,

(a)

(b)

(c)

(d)

Generate the WSDL file to describe the service. You are only requircd to write down

the elements that come with tags <message></message> and

<po rtTl4pe><portTlpe >.
(a.5 marks)

Develop the Web Service using Java programming.
(7 marks)

hopose the right SOAP request from the client and the SOAP response from the
provider. Assume that the input value is the additional working horns and the output

is the pay that the person will receive.
(6 marks)

For the securiry purposo, your team plans to extend the standard SOAP with security

elements and also to have database connections. Therefore, they consider to change

the basic JAX-WS implementation to A)ilS2. Justifr why such plan needs to be

implemented.
(7.5 ma*s)
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